CONSOLIDATED REPORT



THE CONSERVATIVE PARTY
CONSERVATIVE CAMPAIGN HEADQUARTERS
4 MATTHEW PARKER STREET
LONDON
SW1H 9HQ

Reed Specialist Recruitment Ltd California 120 Coombe Lane London SW20 0BA

DATE: 20/01/2017	ACCOUNT NO:	OUR REF:
	· · · · · · · · · · · · · · · · · · ·	

Page 1

INVOICE NO	YOUR REF	VAL-EX-VAT (£)	VAT (£)	TOT-INV-VAL
		3308.50	661.70	3970.20
		910.00	182.00	1092.00
		360.75	72.15	432.90
		669.50	133.90	803.40
		455.00	91.00	546.00
	PAGE TOTAL	5703.75	1140.75	6844.5
	GRAND TOTAL	5703.75	1140.75	6844.5

Reed Specialist Recruitment Ltd. Registered in England No. 06903140 Reg. Office: Academy Court, 94 Chancery Lane, London, WC2A 1DT REED believes in social responsibility and distributes 18% of Group profits to charity through the Reed Foundation.

VAT Registered No. GB 835 5155 25



SUMMARY TAX INVOICE

REED

THE CONSERVATIVE PARTY CONSERVATIVE CAMPAIGN HEADQUARTERS 4 MATTHEW PARKER STREET LONDON SW1H 9HQ INVOICE NUMBER:
INVOICE DATE:
20/01/2017
TAXPOINT / DATE OF ISSUE:
27/01/2017
ACCOUNT NO:
OUR REF:
YOUR REF:

Reed Specialist Recruitment Ltd California 120 Coombe Lane London SW20 0BA

Page 1

							Page 1
ORDER NO	TEMPORARY / CONTRACTOR	TIMESHEET	W/E DATE	DURATION @ CHARGE RATE	VAL-EX-VAT * (£)	VAT (£)	TOT-INV-VAL (£)
		672	20/01/2017	28.00 HOURS @ £13.00	364.00	72.80	436.80
		39320	20/01/2017	21.00 HOURS @ £13.00	273.00	54.60	327.60
		39532	20/01/2017	20.25 HOURS @ £13.00	263.25	52.65	315.90
		77532	20/01/2017	28.00 HOURS @ £13.00	364.00	72.80	436.80
		97330	20/01/2017	28.00 HOURS @ £13.00	364.00	72.80	436.80
		97995	20/01/2017	28.00 HOURS @ £13.00	364.00	72.80	436.80
		77580	20/01/2017	35.00 HOURS @ £13.00	455.00	91.00	546.00
		39278	20/01/2017	31.25 HOURS @ £13.00	406.25	81.25	487.50
		97991	20/01/2017	35.00 HOURS @ £13.00	455.00	91.00	546.00
amount at 20.00%				PAGE TOTAL	3308.50	661.70	3970.20
				SUMMARY TOTALS	3308.50	661.70	3970.20

Reed Specialist Recruitment Ltd. Registered in England No. 06903140 Reg. Office: Academy Court, 94 Chancery Lane, London, WC2A 1DT REED believes in social responsibility and distributes 18% of Group profits to charity through the Reed Foundation.

VAT Registered No. GB 835 5155 25



DATA ENTRY PROJECT

1/5 9 Account to Payrol No tya Ne Will Oato

672 / 201642 / **11**7 20 January 2017 ACCOUNTS PAYABLE _4%0i(0 ±20

14349 Order No

Phone No. 020 7222 9000 involce address.

CONSERVATIVE CAMPAIGN HEADQUARTE 4 MATTHEW PARKER STREET

LONDON

SW1H 9HO

Övertime Arrangement

@ Charce

Standard

NO OVERTIME

Hours

28

Working Address

WESTMINSTER

LONDON

SW1H 9HQ

4 MATTHEW PARKER STREET

GIANT PROFESSIONAL LIMITED

COPELAND, BRENT THE CONSERVATIVE PARTY

Category

Report To

Client Ref

Job title

କ୍ଷରଣ Inish Hours USV Start 0.00 0.00 0.00 0.00 Saturday Sur dev 0.00 0.00 0.00 0.00 Marsia₂ 9.30 0.30 17.00 7.00 ruesday 9.30 0.30 17.00 7.00 Wednesday 9.30 0.30 17.00 7.00 Thursday 0.00 0.00 0.00 iriday 9.30 0.30 17.00

Total Bours worked ilmesheet Authorised sy Deta and Tin a Transmit ad

24/01/2017 16:32:00

1/5 9 Account to Payrol No

t∌# No 39320 / 201642 / 117 Will Oato 20 January 2017 _4%0i(0 ±20

ACCOUNTS PAYABLE

Phone No. unvoice address

Order No

CONSERVATIVE CAMPAIGN HEADQUARTE 4 MATTHEW PARKER STREET

LONDON SW1H 9HO GIANT PROFESSIONAL LIMITED

DATE, DENICA THE CONSERVATIVE PARTY

Category Report To

DATA ENTRY PROJECT

Working Address 4 MATTHEW PARKER STREET

WESTMINSTER LONDON SW1H 9HQ

Client Ref

Job title

କ୍ଷରଣ Inish Hours Svertime Arrangement USV Start NO OVERTIME 0.00 0.00 0.00 0.00 Saturday Sur dev 0.00 0.00 0.00 0.00 Hours @ Charce Marsia₂ 0.00 0.00 0.00 0.00 21 Standard Tuesday 0.00 0.00 0.00 0.00 Wednesday 9.30 0.30 17.00 7.00 Thursday 9.30 0.30 17.00 iriday 9.30 0.30 17.00

Total Bours worked ilmesheet Authorised sy Deta and Tin a Transmit ad

REED

24/01/2017 16:32:00

REED

1/5 y Account to Payrol No ty⊕Ne Will Oato Lavoice (AC

39532 / 201642 / **1**17 20 January 2017 ACCOUNTS PA

Order No

Phone No 020 7222 9000 involce address CONSERVATIVE CAMPAIGN HEADQUARTE

4 MATTHEW PARKER STREET

LONDON SW1H 9HO GIANT PROFESSIONAL LIMITED

THE CONSERVATIVE PARTY

Category Report To

Client Ref

Job title

DATA ENTRY PROJECT -2017

Working Address 4 MATTHEW PARKER STREET

WESTMINSTER LONDON SW1H 9NP

ୟଞ୍ଜା Inish Hours Övertime Arrangement Úεγ Start NO OVERTIME 0.00 0.00 0.00 0.00 Saturday Sacder. 0.00 0.00 0.00 0.00 Hours @ Charco Macdev 0.00 0.00 0.00 0.00 20.25 Standard ruesday 0.00 0.00 0.00 0.00 Wednesday 10.15 0.30 17.00 6.15 Thursday 9.30 0.30 17.00 7.00 iriday 9.30 0.30 17.00

Total Hours worked ilmesheet Authorised sy Dute and Tine Transmit ed

20.15 RACHEL PAUL 24/01/2017 16:32:00

1/5 y Account to Payrol No ty⊕Ne 77532 / 201642 / 117

20 January 2017 Will Oato ACCOUNTS PAYABLE Lavoice 193

Order No

Phone No 020 7222 9000 involce address

CONSERVATIVE CAMPAIGN HEADQUARTE 4 MATTHEW PARKER STREET

GIANT PROFESSIONAL LIMITED JAYE, CHARLES THE CONSERVATIVE PARTY

> Category Report To

Client Ref Job title

DATA ENTRY PROJECT -2017

Working Address 4 MATTHEW PARKER STREET

WESTMINSTER LONDON LONDON SW1H 9HQ SW1H 9HO

ୟଞ୍ଜା Inish Hours Overtime Arrangement Úεγ Start 0.00 0.00 0.00 NO OVERTIME 0.00 Saturday Sacder. 0.00 0.00 0.00 0.00 Hours Macdev 9.30 0.30 17.00 7.00 28 ruesday 9.30 0.30 17.00 7.00 Wednesday 9.30 0.30 17.00 7.00 Thursday 0.00 0.00 0.00 0.00 iriday

0.30 17.00 9.30 Total Hours worked

Himesheet Authorised #y Date and Tine Transmit ಅವ @ Charco Standard

> 28 00 RACHEL PAUL 24/01/2017 16:32:00

DATA ENTRY PROJECT

1/5 9 Account to Payrol No tya Ne Will Oato _4%0i(0 ±20

97330 / 201642 / 117 20 January 2017 ACCOUNTS PAYABLE

Order No

Phone No. 020 7222 9000 unvoice address

CONSERVATIVE CAMPAIGN HEADQUARTE 4 MATTHEW PARKER STREET

LONDON SW1H 9HO

Wednesday

Thursday

iriday

କ୍ଷରଣ Inish Hours USV Start 0.00 0.00 0.00 0.00 Saturday Sur dev 0.00 0.00 0.00 0.00 Marsia₂ 9.30 0.30 17.00 7.00 ruesday 9.30 0.30 17.00 7.00

0.30 17.00

0.00 0.00

0.30 17.00

9.30

0.00

9.30

Övertime Arrangement NO OVERTIME

GIANT PROFESSIONAL LIMITED

KHAN,RIZWAN THE CONSERVATIVE PARTY

Category

Report To

Client Ref

Working Address

WESTMINSTER

LONDON

SW1H 9HQ

4 MATTHEW PARKER STREET

Job title

Hours @ Charce 28 Standard 7.00

Total Bours worked Ilmesheet Authorised £y Deta and Tin a Transmit ad

28.00 RACHEL PAUL 24/01/2017 16:32:00 1/5 9 Account to

Payrol No t jār No 97995 / 201642 / **1**17 Will Oato 20 January 2017 ACCOUNTS PAYABLE _4%0i(0 ±20

14349 Order No

Phone No. 020 7222 9000

involce address.

CONSERVATIVE CAMPAIGN HEADQUARTE 4 MATTHEW PARKER STREET

LONDON SW1H 9HO Client Ref Job title

Category

Report To

Working Address 4 MATTHEW PARKER STREET

GIANT PROFESSIONAL LIMITED

THE CONSERVATIVE PARTY

WESTMINSTER LONDON SW1H 9HQ

କ୍ଷରଣ Inish Hours Svertime Arrangement USV Start NO OVERTIME 0.00 0.00 0.00 0.00 Saturday Sur dev 0.00 0.00 0.00 0.00 Hours @ Charce Marsia₂ 9.30 0.30 17.00 7.00 28 Standard Tuesday 9.30 0.30 17.00 7.00 Wednesday 9.30 0.30 17.00 7.00 Thursday 0.00 0.00 0.00 iriday 9.30 0.30 17.00

Total Bours worked Ilmesheet Authorised £y Deta and Tin a Transmit ad

28.00 RACHEL PAUL 24/01/2017 16:32:00

REED

1/5 y Account to Payrol No ty⊕Ne Will Oato Lavoice (AC

20 January 2017 ACCOUNTS PAYABLE

Order No Phone No

020 7222 9000 involce address CONSERVATIVE CAMPAIGN HEADQUARTE

4 MATTHEW PARKER STREET

LONDON SW1H 9HO GIANT PROFESSIONAL LIMITED

SCOTT,ZOE THE CONSERVATIVE PARTY

Category Report To

Client Ref Job title

DATA ENTRY PROJECT 2017

Working Address

4 MATTHEW PARKER STREET

WESTMINSTER LONDON SW1H 9HQ

ୟଞ୍ଜା Inish Hours Övertime Arrangement Úεγ Start NO OVERTIME 0.00 0.00 0.00 0.00 Saturday Sacder. 0.00 0.00 0.00 0.00 Hours @ Charco Macdev 9.30 0.30 17.00 7.00 35 Standard ruesday 9.30 0.30 17.00 7.00 Wednesday 9.30 0.30 17.00 7.00 Thursday 9.30 0.30 17.00 7.00 iriday 9.30 0.30 17.00

Total Hours worked ilmesheet Authorised sy Dute and Tine Transmit ed 24/01/2017 16:32:00

1/5 y Account to Payrol No ty⊕Ne 39278 / 201642 / 117

20 January 2017 Will Oato ACCOUNTS PAYABLE Lavoice 193

Order No

Phone No 020 7222 9000 involce address

CONSERVATIVE CAMPAIGN HEADQUARTE 4 MATTHEW PARKER STREET

LONDON SW1H 9HO GIANT PROFESSIONAL LIMITED

TILL, FRANCIS THE CONSERVATIVE PARTY

Category Report To

Client Ref Job title

DATA ENTRY PROJECT -2017

REED

Working Address 4 MATTHEW PARKER STREET

WESTMINSTER LONDON SW1H 9HQ

ୟଞ୍ଜା Inish Hours Övertime Arrangement Úεγ Start 0.00 0.00 0.00 NO OVERTIME 0.00 Saturday Sacder. 0.00 0.00 0.00 0.00 Hours @ Charco Macdev 9.30 0.30 17.00 7.00 31.25 Standard ruesday 9.30 0.30 17.00 7.00 Wednesday 9.30 0.30 17.00 7.00 Thursday 14.00 0.00 17.00 3.00 iriday 0.30 17.15 9.30

Total Hours worked Himesheet Authorised #y Date and Tine Transmit ಅವ

31 15

24/01/2017 16:32:00



T/SID

Account No Payroll No

T/S No

W/E Date

Invoice FAO

20 January 2017

ACCOUNTS PAYABLE

Order No

Phone No

020 7222 9000

Invoice Address

CONSERVATIVE CAMPAIGN HEADQUARTE

4 MATTHEW PARKER STREET

LONDON

SW1H 9HQ

KAICONNECTIONSLONDON LTD

THE CONSERVATIVE PARTY

Category

Report To

Client Ref

Job title

DATA ENTRY PROJECT -2017

00

Working Address

4 MATTHEW PARKER STREET

WESTMINSTER

LONDON

SW1H 9HQ

Day	Start	Meal Finisl	1 Hours	Overtime Arrangement	
Saturday	0.00	0.00 0.00	0.00	NO OVER	TIME
Sunday	0.00	0.00 0.00	0.00	Hours	@ Charge
Monday	9.30	0.30 17.00	7.00	35	Standard
Tuesday	9.30	0.30 17.00	7.00		
Wednesday	9.30	0.30 17.00	7.00		
Thursday	9.30	0.30 17.00	7.00		
Friday	9.30	0.30 17.00	7.00		

Total Hours worked

35.00

Timesheet Authorised By

RACHEL PAUL

Date and Time Transmitted

24/01/2017 16:32:00

